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A certain type of aluminum screen that is 3 feet wide has on the average one flaw in an 80-foot
roll. Find the probability that a 60-foot roll has no flaws.
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2 -1 0 1
y 1 1 2 4

(@) it R ( y=a+px)-
(O E Hyra = f=0 o (B 40.05 )
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X y x? y? Xy
-2 1 4 1 -2
-1 1 1 1 -1
0 2 0 4 0
1 4 1 16 4
-2 8 6 22 1

| = ( NIX? - ExZx ) = 4x6--22 = 20

0 = (ZyEx® — IxIxy )/ [E] = (8x6—-2x1) /20 = 2.5

B = (NIxy—IxZy)/[Z| = (4x1--2x8) /20 = |
SHESN Dy =254 X

(b)

SST =Sy? — SySy/N = 22-8%/4=6
SSR = (N2 + 2aBEx + B2Ex? ) — SySy/N = (4x2.542x2.5% | x-2+12x6)-8%/4 = 5
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[ SRAER 500 1 5.00  10.000
A .00 2 0.50

A 600 3

T df =(12) 2 FOIfE s =005 SHEEER I F = 18513 ¢ R={F >18.513} -
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A 42 47 39 43

B 38 41 38
C 45 36 34

(a)ﬁ%?l‘ﬂ Kruskal-Wallis A5 -V H fifi -
(b)ﬁﬂ K-W b= o Eﬂﬁ@?’sﬁ%ﬁ%:—ﬁﬂ?i TR o (HTE % 0 =005 )
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()
A B C AF
7 35 9
10 6 2
5 35 1
8
TA 30 13 12 55
ny 4 3 3 10
(SAPm, | 22500 5633 48.00 | 329.33

557
SSTR =329.33 Ty =26.833

SST/(N-1) = [N(N+1)] / 12 = 9.167
H=SSTR/SST/(N-1) = 26.833 / 9.167 = 2.927

(b)

TiE s df =2 O @=005 SR 2T = 5.991 P R={7">5.991} «
21 =2927&R > AR ERE e = VSRRSO R B
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B 12 16 12 40 B | 533 025  3.00 | 858
E 9 12 9 30 ki 0.11 033 011 | 056
i 9 12 9 30 Lo 544 000 544 | 10.89
&3 | 30 40 30 100 25 | 1089 058 856 | 20.03
7> =20.03
(b)
T df =2x2=40 27 53] a0 =005 SRR 27 = 9488 R={y">9.488} -
2°=2003eR > HRER R < SRTAHE LG ¥ 5
(©
B~ T BUEEE AR 20.5 - 55.5 - 85.5

M ~ T P EEE (A 155 - 50.5 - 855 ¢

A B “Ei(f) (A-BP  (ABP
20.5 15.5 20 25 500
20.5 50.5 14 900 12,600
20.5 85.5 6 4,225 25,350
55.5 15.5 8 1,600 12,800
55.5 50.5 14 25 350
55.5 85.5 8 900 7,200
85.5 15.5 2 4,900 9,800
85.5 50.5 12 1,225 14,700
85.5 85.5 16 0 0

100 83,300

r,=1-6%*83,300.0/(100*9999) = 0.500
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